
SAP ABAP table BUT052 {BP Relationship: Addresses}

BUT052

CLIENT [CLNT (3)]

RELNR [CHAR (12)]

PARTNER1 [CHAR (10)]

PARTNER2 [CHAR (10)]

DATE_TO [DATS (8)]

ADDRNUMBER [CHAR (10)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]
 BUT052-ADDRNUMBER = ADRC-ADDRNUMBER 

{0,1}

1

BUT050

CLIENT [CLNT (3)]

RELNR [CHAR (12)]

PARTNER1 [CHAR (10)]

PARTNER2 [CHAR (10)]

DATE_TO [DATS (8)]

 BUT052-RELNR = BUT050-RELNR 
{0,1}1

T000

MANDT [CLNT (3)]

 BUT052-CLIENT = T000-MANDT 

0..N

1


